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Choose the correct option: (b)
Gopal said to me I shall return his money a week.
a) in b) within c) at d) for Within
Match the following: (d)
A. A person who collects books 1. Misologist
B. Who studies the history of languages ii. Misogynist
C. Hatred of or prejudice against women | iii. Bibliophile
D. A person who is hater of knowledge and | iv. Philologist
learning
a) A-i, B-ii, C- | b) A-ii, B-i, C- | ¢) A-iii, B-ii, C- | d) A-iii, B-iv, | A-iii, B-iv, C-
iii, D-iv iii, D-iv i, D-iv C-ii, D-1 ii, D-i
Which of the following is/are correct in respect of non-verbal (d)
communications?
A. Tt helps illiterate people to communicate with others easily
B. In this communication people can repeat the verbal messages
according to their need
C. Inthis communication there is a great possibility in distortion
of information
D. Itis faster at conveying information
a) Only A b) AandB |c)A,BandC d) All of these All of these
Two statements labeled as Assertion and Justification are given. (d)

Read both the statements carefully and select the correct answer with

the help of the codes

A: Assertion: Use of electric vehicles is being promoted

B: Justification: Electric vehicles are more environment friendly

a) (A) is false
but (B) is true

b) Both (A)
and (B) are
true, but (B) is
not the correct

explanation of

(A)

c) (A) is true
but (B) is false

d) Both (A)
and (B) are
true, and (B) 1s
the correct

explanation of

(A)

Both (A) and
(B) are true,
and (B) is the
correct

explanation of

(A)

Select the pair which has the same relationship:

GRIEF: CONSOLATION

(b)




a) Comfort: b) Pain: ¢) Trance: d) Ache: Pain: Sedative
Stimulant Sedative Narcotic Extraction
6 | Aluminium is manufactured from C
a) Copper ore | b) Iron ore c) Bauxite ore | d) Manganese | Bauxite ore
Ore
7 | The phenomenon which cause mirage is: b
a) Interference | b) Total | ¢) Polarisation | d) Diffraction | Total internal
internal reflection
reflection
8 | Sepoy mutiny took place in the year d
a) 1757 b) 1761 c) 1836 d) 1857 1857
9 | Kabir was the disciple of d
a) Nanak b) Ramanuj C) d) Madhvacharya
Shankaracharya | Madhvacharya
10 | When was National Forest Policy issued by the government of India? b
a) 1940 b) 1942 c) 1952 d) 1999 1942
11 | HCF of 30 and 105 is: a
a) 15 b) 16 c) 17 d) 13 15
12 | The sum of the first five multiples of 3 is: C
a) 55 b) 65 c) 45 d) 75 45
13 | The mode and mean is given by 7 and 8, respectively. Then the b
median is:
a) 33 b) 23/3 c) 1/13 d) 13/3 23/3
14 | Corresponding sides of two similar triangles are in the ratio of 2:3. C
If the area of the small triangle is 48 sq.cm, then the area of large
triangle is:
a) 106 sq.cm b) 230 sq.cm | ¢) 108 sq.cm d) 107 sq.cm 108 sq.cm
15 | In an Arithmetic Progression, if a =28, d = -4, n =7, then ay is: b
a)5 b) 4 c)7 d)3 4




16 | The scheme, titled “Critical care and support for accessing justice to b
rape/gang rape survivors and minor girls who get pregnant”, has
been approved by the Ministry of:
a) Minority | b) Women and | c) Tribal | d) Health and | Women and
Aftairs Child Welfare Family Child
Development Welfare Development
17 | Regular use of fairness creams is linked with Nephrotic Syndrome d
which is
a) A skin|b) A | ¢) A respiratory | d) A kidney | A kidney
disorder neurological condition disorder disorder
disorder causing causing
excessive excessive
protein in | protein in
urine urine
18 | Noa-Dihing music frog is a newly discovered species found in which C
state?
a) Assam b) Manipur ¢) Arunachal | d) Meghalaya Arunachal
Pradesh Pradesh
19 | Which institution recently launched North India’s first Human DNA a
Bank under ‘Make in India’ initiative?
a) Banaras | b) IIT Kanpur | ¢) Delhi | d) IIT Delhi Banaras
Hindu University Hindu
University (DU) University
(BHU) (BHU)
20 | Sen Index is associated with the measurement of which of the c
following social problems?
l. Poverty
. Public Health
M. Social Disorganisation
IV.  Ecological Sustainability
a) land IV b) L MTand III |c)OnlyIl d) Il and IV Only I
21 | What was Anna Hazare’s movement against? C
a) Red tape b) ¢) Corruption d) Caste-ism Corruption
Environment
22 | Match the pairs: b




A. Arya Samaj I. Raja Ram Mohan
Roy
B. Brahmo Samaj ii. Dayanand
Saraswati
C. Veda Samaj iii. Atmaram
Pandurang
D. Prarthana Samaj iv. Keshab  Chandra
Sen and K.S. Naidu
a) A-ii, B-i, C- | b) A-ii, B-1, C- | ¢) A-i, B-ii, C- | d) A-ii, B-iv, | A-ii, B-i, C-iv,
iii, D-iv iv, D-iii iv, D-iii C-i, D-iii D-iii
23 | Which government interventions aim at controlling India’s C
population growth?
A. Promoting women’s education
B. Building more schools
C. Family Planning Programs
D. Improving Public transportation
Choose the correct option from below:
a) AandB |b)Band C c)Aand Conly | d)A, B,and C | Aand C only
only only only
24 | Consider the following statements regarding Dr. B.R. Ambedkar. C
A: He is the only Indian whose statue has been erected alongside
Karl Marx in the London Museum.
B: Dr. B.R Ambedkar’s personal library Rajgrah, was the world’s
largest private library with over 50 thousand books.
Choose the correct answer:
a) Only A b) Only B c) BothAand B | d) Neither A | Both Aand B
nor B
25 | Who said that education is the manifestation of perfection already in b
men?
a) Ishwar | b) Swami | ¢) Netaji | d)  Acharya Swami
Chandra Vivekananda | Subhas Jagadish Vivekananda
Vidyasagar Chandra Bose | Chandra Bose
26 | The special community lunch arranged in the Gurudwaras is known a
as:
a) Langar b)Bhojan c)Bhojanalaya | d)Khidmat Langar
27 | Which of the following are correctly matched? a
A. Medha Patkar I. Squash Player




B. Jamini Roy ii. Environment
Activist
C. Bhuvaneshvari Kumari iii. Painter
D. Aruna Roy iv. Right to
Information
Campaign
a) A-ii, B-iii, | b) A-iii, B-ii, | ¢) A-iv, B-iii, | d) A-i, B-iv,C- | A-ii, B-iii, C-
C-i, D-iv C-iv, D-i C-ii, D-i iii, D-ii i, D-iv
28 | Dhondo Keshav Karve was an eminent Indian who championed the b
cause of
A. Allowing child marriages
B. Prohibiting widow remarriages
C. Strengthening the caste census
D. Spread women education
a) Only C b) Only D c)BothAand B | d) All of the Only D
above
29 | Consider the following: C
A: It was the first India’s Civil Disobedience Movement launched
by Mahatma Gandhi.
B: It was a protest against the injustice meted out to tenant farmers
in Champaran district of Bihar.
Choose the correct options:
a) Only A b) Only B c) BothAand B | d) Neither A | Both Aand B
nor B
30 | Which of the following incident was the driver of subsequent d
withdrawal of Non-Cooperation Movement?
a) Creation of | b) Partition of | ¢) Jallianwala | d) Chauri- Chauri-
Bengal Bengal Bagh Massacre | Chaura Chaura
Presidency Incident Incident
31 | Which country has the highest forest cover in terms of Area? b
a) India b) Russia ¢) Brazil d) None of Russia
these
32 | Match the following: a
A. Animals I. Biotechnology




B. Soil ii. Non-renewable
sources

Renewable sources

C. New species iii.

D. Stopping Soil iv. Nulla bunding
a) A-iii, B-ii, | b) A-ii, B-i, C- | ¢) A-iv, B-i, C- | d) A-iii, B-i, | A-iii, B-ii, C-
C-i, D-iv iii, D-iv iii, D-ii C-iv, D-ii i, D-iv
33 | Which of the following is a recommended step in responding to a d
tsunami?
A. Check if your home, school, or workplace is in a tsunami
hazard area.
B. Plan evacuation routes from frequently visited locations.
C. Use a Weather Radio or stay tuned to local media for
warnings.
D. Do not discuss tsunami preparedness with your family or it
will panic them.
Choose correct one:
a)Aand B b)B and D c¢) C only d)A,Band C| A,BandC
only only only
34 | Read the following two statements and answer: b
A (Assertion): Oral polio vaccine should be given to all children
below the age of 5 years; but children over the age of 5 do not need
to take the dose.
R (Reason): In India, almost all complications of poliomyelitis are
found in children below the age of 5.
a) Both A and | b) Both A and | ¢) A is false but | d) A is true but | Both A and R
RaretruebutR | R are true and | R is true. R is false. are true and R
is not the | Risthe correct is the correct
correct explanation of explanation of
explanation of | A. A.
A.
35 | How do meteorologists measure temperature? C
a) Barometer b) Hydrometer | c)Thermometer | d) Stevenson | Thermometer
screen
36 | Acondition in which a person will eat, but with great reluctance, and a

typically not enough to sustain normal weight. A serious loss of

appetite apparently of psychological origin, is known as
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a)  Anorexia | b) Bulimia | ¢) Dehydration | d) All of the Anorexia
nervosa nervosa above nervosa
37 | Match the following developmental stages and age ranges: b
A. Infancy I. Conception to birth
B. Early childhood ii. Birth to 24 months
C. Prenatal period iii. 2 to 6 years
D. Adolescence iv. 12 to 22 years
a) A-i, B-iii, C- | b) A-ii, B-iii, | ¢) A-iv, B-i, C- | d) A-iii, B-ii, | A-ii, B-iii, C-
iv, D-ii C-i, D-iv ii, D-iii C-iv, D-i i, D-iv
38 | The cause of hunger is: C
A. Expectation of food
B. Deficiency of energy
C. Homeostatic disturbance
D. Deficiency of oxygen
a)A b) Aand B ¢)A,Band C d) All of the| A,BandC
above
39 | Choose the correct response as per assertion and justification b
A: Assertion- People are hesitant to consult a psychologist for the
distress and disorders they are suffering from.
B: Justification- A disorder indicates failure in adapting to
environment and should be viewed as any other illness.
a) Both A and | b) Both A and | ¢) A is true but | d) A is false | Both Aand B
B are true and | B are true but | B is false but R is true are true but R
B is the correct | R is not the is not the
explanation of | correct correct
A explanation of explanation of
A A
40 | Cognitions are and dissonance means a
a) Thoughts, | b) Clashing, | ¢)  Thoughts, | d) Perceptions Thoughts,
clashing Thoughts Balancing Not agreeing clashing
41 | Asocial class is: a
a) a primary |b) a quasi- | ¢)acommunity | d) an a primary
group group association group
42 | Which of the following constitute the treasury of our social heritage? c
a) Norms | b) Customs | ¢) Folkways | d) Laws Folkways
43 | Which of the following is function of a family? d




a) Social work | b) c¢) Educational | d) all of the all of the
Psychological | work above
work above
44 | Who defines, “Family is a universal institution”? C
a) Elliot ‘ b) Comte ‘ ¢) Murdock ‘ d) Page Murdock
45 | Which of the following is the basis of social stratification? d
a) Property b) Age c) Religion | d) All of the All of the
knowledge above above
46 | The concept of ‘Sanskritisation’ is given by : b
a) M Manoj b). . MN | ¢) Y Siddique d) BR MN Srinivas
Srinivas Ambedkar
47 | Husband and wife within a family can be regarded as? d
a) Class | b) Caste | ©) Sect | d) Social roles | Social roles
48 | Among which of the following identity crisis is seen? a
a) Adolescents | b) Adults ¢) Children giople Aged Adolescents
49 | Family means a
a). Husband | b) attachment | c) protection of | d) None of the Husband wife
wife to all family above . )
relationship relationship
50 | Religion can C
a) change the | b) stabilise the | ¢) not be a |d)Bothaandb chanee the
social order social order social ) ig
institution social order
51 | Social changes are C
a) permanent b) diverse c) Bothaand b gl)o(l):llzne of the Both a and b
52 | Who defines social change as the changes in the structure of society? d
a) K Davis b) Talcott | ¢) Jones d) HM HM Johnson
Parson Johnson
53 | Examples of include the French Revolt (1789-93) and the c
Soviet or Russian Revolt of 1917?
a) Uprising | b) Evolution \ c¢) Revolution \ d) Massacre Revolution
54 | A theory called social Darwinism emphasized the significance of d
change as
a) . b) Societal c¢) Evolutionary | d) Adaptive Adapive
Transformation
55 | Karl Marx thought that the following factors can lead to societal c
change:
a) By violent | b) By | ¢) Evolutionary | d) by killing | Evolutionary
methods only | education only | and the bourgeois and
revolutionary class revolutionary
methods methods
56 | Who was the founder of Sikhism? b
a) Guru Gobin | b) Guru Nanak | ¢) Guru Rajbir g%gzne of the Guru Nanak
57 | Social capital is best described as : c
a) Social | b) c) d) Educational . )
o . . . Relationships
capital is best | Accumulated | Relationships achievements and networks
described as knowledge and networks that provide
and skills that  provide P
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benefits and benefits and
resources resources
58 | i is the most common and acceptable form of marriage a
a) monogamy | b) exogamy \ ¢) polyandry | d) polygamy monogamy
59 | Who wrote the book Social change in modern India? c
a) ‘ M.K. | b) B. K. Roy c)‘ ‘ M. N. | d)Risley M. N. Srinivas
Gandhi Srinivas
60 | Who established the Sathya Sodhak Samaj? a
a) Jyoti Rao | b) c¢) Dayananda | d)  Rajaram Jyoti Rao
Phule Vivekanandan | Saraswathi Mohan Roy Phule
61 | The President may appoint an individual who is not a member of d
Parliament as a Minister for a maximum of:
a) 9 Months b) 3 Months ¢) 12 Months d) 6 Months 6 Months
62 | Match the following Pairs: b
A. State as a Class I. Rousseau, Hegel, Green
B. State as Ethical Life II. Machiavelli and Hobbes
C. State as Power III. Marx and Lenin
D. Minimal State IV. Hayek and Nozick
a) A-II, B-1V, | b) A-III, B-1, | c)A-IL B-I, C- | d)A-III, B-1V, | A-III, B-I, C-
C-I11, D-1 C-11, D-IV 111, D-IV C-11, D-1 I, D-1V
63 | India became republic on: a
A. 26 November, 1949
B. 26 January, 1950
C. 15 August, 1947
D. 2 October, 1950
Choose the correct answer from the option given below:
a) B is True b) Cis True c¢) D is True d) Cis True B is True
64 | Read the statements (A) and (B) and choose the appropriate option. a

A: Assertion: No country can be said to be completely democratic.

B: Justification: Individuals and communities always try to expand

the idea of democracy.

a) Both (A) and
(B) are true and
(B) is the

correct

b) Both (A)
and (B) are
true but (B) is

not correct

¢) (A) is true
but (B) is false

d) Both (A)
and (B) are

false

Both (A) and
(B) are true
and (B) is the

correct
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explanation of | explanation of

explanation of

(A) (A) (A)
65 | Municipal Corporations, Municipal Councils, and Nagar Panchayats b
are part of which government?
a) Rural Local | b) Urban ¢) Both Rural d) State Urban Local
Government Local Local Government Government
Government Government
and Urban
Local
Government
66 | What type of system is Panchayati Raj? b
a) Two Tier | b) Three Tier | c¢) Four Tier d) One Tier Three Tier
System System System System System
67 | Match the following Pairs: a
A. Uttar Pradesh I. Chandigarh
B. Kerala II. Thiruvananthapuram
C. Punjab II1. Dispur
D. Assam IV. Lucknow
a) A-1V, B-1I, | b) A-II, B-IV, |c)A-IV, B-1II, |d)A-II, B-IIl, | A-1V, B-II, C-
C-1, D-1II C-II1, D-1 C-I, D-II C-1V, D-1 I, D-III
68 | What is true with regard to the concept of directive principles? a
A. Directive Principles has been borrowed from Irish Constitution
B. Directive Principles has been borrowed from Canadian
Constitution
C. Directive Principles has been borrowed from Russian
Constitution
D. Directive Principles has been borrowed from American
Constitution
a) Only A is|b)A & Bare c) Cis True d) Only D is | Only Ais True
True True True
69 | Read the statements (A) and (B) and choose the appropriate option. a

A: Assertion: In India, People elect their own representatives.
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B: Justification: India is democratic country.

a) Both (A)and | b) Both (A)|c) (A) is true, | d) A) is false, | Both (A) and
(B)aretrueand | and (B) are | but (B) is false | but (B) is true (B) are true
(B) is the | true but and and (B) is the
correct (B) is NOT the correct
justification of | correct justification of
(A) justification of (A)
(A)
70 | Who is the Chairman of the Niti Aayog? C
a) President b) Minister of | ¢) Prime d) Minister of Prime
Finance Minister Planning and Minister
Development
71 | The word ‘Sustainable Development’ came into existence in the C
year?
a) 1992 b) 1978 c) 1980 d) 1987 1980
72 | Match the following Pairs: a
A. Assam I. Bandhavgarh National Park
B. Gujarat II. Kaziranga National Park
C. Madhya Pradesh III. Jim Corbett National Park
D. Uttarakhand IV. Gir National Park
a) A-l1I, B-1V, | b)A-L, B-II, C- | ¢) A-II, B-IIII, | d) A-IIL, B-1V, | A-II, B-IV, C-
C-1, D-1II I, D-IT C-I, D-IV C-I1, D-1 I, D-III
73 | What is true with regard to the fundamental Rights? a
A. The fundamental Rights were added by 42" amendment
B. The fundamental Rights were added by 44" amendment
C. The fundamental Rights formed a part of original constitution
D. The fundamental Rights were added by parliament in 1952
a) Only C is|b)OnlyDis c) A & C are|d) Only B is | Only C is True
True True True True
74 | Read the statements (A) and (B) and choose the appropriate option. d

A: Assertion: The President of India can issue a proclamation of
emergency under Article 356 of the Constitution on the advice of the

Prime Minister.
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B: Justification: Where a proclamation of national emergency is in

operation, the President may suspend the operation of all

fundamental rights except Articles 20 & 21 of the Constitution.

a)Both(A)and | b) Both (A) |c) (A) is true, | d) A) is false, | A)is false, but
(B)aretrueand | and (B) are | but (B) is false | but (B) is true (B) is true
(B) is the|true but and
correct (B) is NOT the
justification of | correct
(A) justification of
(A)
75 | The term biomass is commonly used to describe b
a) Inorganic b) Organic ¢) Chemicals d) Ammonium Organic
Matter Matter Compounds Matter
76 | The aerobic digestion of sewage is used to produce b
a) Biomass b) Bio Fuels c¢) Synthetic d) Metal Bio Fuels
Fuels Articles
77 | Matching the following Pairs: A
A. Renewable Energy I. SDG14
B. Life below Water II. Reduces Carbon Emissions
C. Solar Radiation ITII. Reduce Growth and Yield
of Crops
D. Impact of Air Pollution on | IV. Energy radiated from the
Plants sun in all directions
a) A-11, B-I, C- | b) A-III, B-1V, | ¢) A-1, B-II, C- | d) A-IV, B-II, | A-II, B-I, C-
IV, D-1II C-1, D-I1 IV, D-1I1 C-III, D-1 IV, D-111
78 | Which of the following is not a true characteristic of the Indian a
government?
A. A government that adheres to the Constitution
B. Democratic Administration
C. Rule of Law
D. Governments that are authoritarian
a) Only D b)C&A c) Only B d) Only C Only D
79 | Read the statements (A) and (B) and choose the appropriate option. A
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A: Assertion: Sustainable Development is essential for economic

growth of the countries.

B: Justification: Sustainable development ensures that environment

friendly measures are adopted for carrying out production processes.

a) Both (A) and
(B) are true and
(B) is the
correct

justification of

b) Both (A)
and (B) are
true but and
(B) is NOT the

correct

c) (A) is true,
but (B) is false

d) Both (A)
and (B) are
false

Both (A) and
(B) are true
and (B) is the
correct

justification of

(A) justification of (A)
(A)
80 | The various control systems that regulate feeding are integrated in a
C
region of the brain called the
a) Thalamus b) amygdala c) d) Neurons
Hypothalamus
Hypothalamus
81 | If a child has a mental age of 10 years and chronological age is 9
years then what will be the 1Q of child? c
a) 122 b) 85 c) 111 d) 119 111
82 | When faced with a stressful situation, men are likely to respond with q
the:
a) hurt then | b)fistand knee | ¢) tend and|d) fight and
‘ _ fight and
help response | response befriend flight response |
flight response
response
83 | Social Welfare Administration comes under (b)
a) Primary b) Secondary | c¢) Not coming | d) All the Secondary
method of method of under any above
: . method of
social social method )
social welfare
work welfare
84 | Match List - I and List - II and choose the correct answer from the

code given:

A. Power 1. Ability to alter others in

general ways

(c)
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B. Authority ii. Ability to force others
C. Influence 1ii. Ability to do something
D. Coerce iv. Right to manipulate or
change others
a) A-i, B-ii, C- | b) A-i, B-iii, | ¢) A-ii, B-i, C- | d) A-iii, B-ii, | A-ii, B-i, C-
iii, D-iv C-ii, D-iv iii, D-iv C-i, D-iv iii, D-iv
85 | Which of the following is/are correct related to implementation of
land reforms
A. Bonafide land transfer
B. Insecurity of rural poor (b)
C. Termination of share cropper
D. Loss of lands by poor peasants
a)A,BandC |[b)A,BandD |c)AandD d)Cand D A,Band D
86 | Two statements labelled as Assertion and Justification are given.
Read both the statements carefully and select the correct answer with
the help of the codes
A: Assertion: People are able to order a world that otherwise would (d)
be confusing
B: Justification: Symbols enable people to deal with the material and
social world by allowing them to name and categories
a) (A) is false [ b) Both (A)|c) (A) is true |d) Both (A)| Both(A)and
but (B)istrue |and (B) are|but(B)isfalse |and (B) are| (B)are true,
true, but (B) is true, and (B) is | and (B) is the
not the correct the correct correct
explanation of explanation of | explanation of
(A) (A) (A)
87 | Poverty is a: (a)
a) Social b) Economic | ¢) Political d) Religious Social
Problem Problem Problem Problem Problem
88 | Which Article says that, “No child below the age of 14 years shall be
employed to work in any factory or in any hazardous employment™? ®
a) Article 24 b) Article 25 c) Article 26 d) Article 27 Article 24
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89 | Match the following:
A. World Anti-Tobacco Day 1. Jan 12
B. National Youth Day ii. May 31 (©)
C. International Youth Day iii. Oct 12
D. World Girl Child Day v. Aug 12
a) A-i, B-ii, C- | b) A-ii, B-iii, | ¢) A-ii, B-i, C- | d) A-iii, B-iv, | A-ii, B-i, C-iv,
iii, D-iv C-i, D-iv iv, D-iii C-i, D-ii D-iii
90 | Which of the following is/are correct regarding Slums:
A. High density of population in slum leads to lack of facilities
B. Slums areas are highly prone to crime and diseases
C. Slum areas are considered to be inferior as compared to cities and (d)
mega cities
D. Slums were an after-effect of industrialisation
a)A,BandC |b)A,BandD |c)AandD d) All of the All of the
above above
91 Full form of IRDP?
(a)
a) Integrated b) Intelligent | ¢) Induced d) All of the Integrated
Rural Rural Rural above Rural
Development | Development | Development
Programme Programme Programme Development
Programme
92 Distributive Justice is a combination of (a)
a) Right and b) ¢) Social and | d) Community
duties Constitutional | community and Society Right and
remedies and | justice duties
social system
93 | Which of the following is/are correct about cultural relativism
A. It is the tendency of our own culture
B. Each society is evaluated in terms of its own circumstances and
values (b)

C. The contemporary society is evaluated in relation to its past

D. Actions that are moral in some societies might be inmoral in

others
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a)A,BandC |b)BandC c¢)Aand D d)Cand D Band C
94 | Two statements labeled as Assertion and Justification are given.
Read both the statements carefully and select the correct answer with
the help of the codes
(c)
A: Assertion: Life style determines life chances
B: Justification: The class position of the individual enhances or
diminishes his life chances
a) (A) is false | b) Both (A)|c) (A) is true | d) Both (A)
but (B)istrue |and (B) are|but(B)isfalse |and (B) are
true, but (B) is true, and (B) is | (A) is true but
not the correct the correct | (B) is false
explanation of explanation of
(A) (A)
95 | National Child Labour Project Scheme (NCLPS) was started in: @
a
a) 1988 b) 1989 c) 1986 d) 1999 1988
96 | Which article of the Constitution of India provides fundamental right
to life with dignity? (a)
a) Article 21 b) Article 21 A | c) Article 20 d) Article 22 Article 21
97 | Match the following:
A. Payment of Bonus
Act i. 1936
B. Payment of Gratuity
Act ii. 1948 ()
C. Payment of Wages
Act ii. 1965
D. Minimum Wages
Act iv. 1972
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a) A-i, B-ii, C- | b) A-ii, B-iii, | ¢) A-ii, B-i, C- | d) A-iii, B-iv, | A-iii, B-iv, C-
iii, D-iv C-i, D-iv iv, D-iii C-i, D-ii i, D-ii
98 | Which of the following is/are correct:?
A. Social stratification is ubiquitous
B. Caste and class are examples of social stratification
C. Social stratification is functional to social system (@)
D. Sanskritisation takes place outside the framework of caste system
a)A,BandC |[b)A,BandD |c)Aand D d)Cand D A,Band C
99 | Two statements labelled as Assertion and Justification are given.
Read both the statements carefully and select the correct answer with
the help of the codes
A: Assertion: Polyandry is much restricted in our contemporary
society @
B: Justification: the practice of polyandry depends upon a number of
socio-demographic factors
a) (A) is false [ b) Both (A)|c) (A) is true |d) Both (A)| Both(A)and
but (B)istrue |and (B) are|but(B)isfalse |and (B) are| (B)are true,
true, but (B) is true, and (B) is | and (B) is the
not the correct the correct correct
explanation of explanation of | explanation of
(A) (A) (A)
100 | National Human Rights Commission was established in the year: ©

a) 1991

b) 1992

¢) 1993

d) 1994

1993
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